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Which number sentence?

2 boys and 3 girls. How many children?
Which number sentence:

2+ =3+—OR—2+3=

6 children. 4 girls. How many boys?
Which number sentence:

4+ |6+—OR—6+4=

5 children. 1 boy. How many girls?
Which two number sentences:

S=1+ S+1= 5-1=

4 girls. 7 children. How many boys?
Which two number sentences:

7+ 4= 7-4= 7=4+|

ADDITION AND SUBTRACTION | SEE REASONING — KS1



Which picture?

20+5 =10+
Which bar model:

20 5

20 Js 10
[ OR

10

Which answer?
5+3= -2

[ (&

Different ways
Fill the gaps. Do in differenf ways.

5+ |=10-

How many ways can it be done?
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